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R i - Bl 5
(1) 4-./6 6
(R 2) 5413 6
6
(14 3) x=1 , y== o
5
) 3a
(i 4) h=m? 6
d
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— (5—E)  No. :

AR E &
(71) gl
2
3
i =y -2
(1) 5% 2x

58 ACPB OFHE, ALABPOEF L AACPOEHO
FTE L,

BoEEEQR,-2)chont, AB=4-(-2)=6

COMEEE (- 2,4)chBhb,  AC=2-(-2)=4
(2] Lo, AABPm}—xsx(sz}mﬁws;
() 2
EEH AAClex4x(4+ifz)m8+t2

2 2

W £ ACPB D 68cm” Thdh b,
(6-30)+(8+12)=68 ko< £ -3-54=0

B .

(-9e+6)=0 1<0Lkvi=-6 | Ex) 1=-61

(F1) 18 iy

[FES] A ABE & ACBA BT,

FHOWHTHPEA LY LEAB =90°

B LN BOEERROC  LACB =90°

E o, LEAB = LACB @

(2] Fie, Od=0F L9 NOAE 3 7802 RBR0OTC,
) LBEA = LOAE =90° ~ LOAB

BB LIEM O0#RE0T  LOAC =90°
LT, LBAC = LOAC ~ ZOAB =90°~ ZOAB
Lo, LBEA=LBAC @

OOLY, 2HOARENERELVOT,

AABE o ACBA (GESHE)

(f13] 743 1o

(fH1) | 36 cm’
(2] 10410 om’
(7 3) 934 e
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Questionl 4
|1 (fEiREB]
Question 2 4
1 v 2
2 b 2
(R 1)
3 T 2
4 e 2
(f 2] understand what you want it to do 4
[FNFJ 3] talk 4
(M4) - 4
(F5] 7 4
b 4
(6]
7 4
(f7] B 12
1 A 4
2 A 4
(f1)
3 -t 4
4 7 4
(2] 2-a interested 4
hl 2
2-b everyday 4
(1) Because in Elly’ s country a lot of children
(3] can’ t eat enough food. 4
(5] - 4
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